answer choice at this stage. If you're not sure, just give it the maybe
and move on. You are looking for a word that means the same thing
or similar to “most sought after” or “eloquent.”
*  Docs domineering mean the same thing or similar to sought
after ot eloguens? No. Eliminate it.
*  Does consummate mean the same thing or similar to sought
after or eloquens? Maybe/not sure? Don’t worry; give it the
maybe and move on. .
*  Does unobjectionable mean the same thing or similar to
sought after or eloguent? No. Cross it off.
*  Does conventional mean the same thing or similar to sought
after or eloquens? No. Cross it off,
Does extensive mean the same thing or similar to sought afser
or eloquens? No. Cross it off.

Now chcck your scratch paper. You have four crossed-off answer choices and a
maybe. This s why it doesn’t pay to get too hung up on an answer choice in the
first pass. If it could work, leave it in. If you're not sure, give it the maybe. Elimi-
nate only those answer choices that are clearly wrong. 7

Faa

Znhman;fﬁkh stuckbetwemtwo answer choices? First, mark the ques-
: walkawsty As always on the GRE, the minute you encounter the least

uonlm' Ifmtwo ; aWﬂYlogl::; can be only onehacvacrrcctanswetto a text-completion ques-
- 1 owo answers rrect, you may have misread something,

mmmwmdkmkbyddngaﬁweﬁmqu&hmmdmnﬁ{:gﬁl{.mym

A

:mding theClue . =~

m?;r?ﬁ T Brook ,Thh° oomwect answer will always have proof in the passage.

ﬂustheducAﬂpg:co m ¢ text that tcll's«}'OILWhat goes into the blank, We call

PRty Mndm qucstionshave them. The clue is like an arrow

betweea two, the. duanswer ice and one answer choice only. If you are stuck
» the clue will break the tie. ST ,

whre

The clue is like an arrow that points to one answer choice
and one answer choice only.

Consider this example:

Sophocles, who wrote the play Oedipus Rezx, was
one of the most playwrights of ancient
Greece.

famous

bombastic

critical

prolific

eclectic

What's your word for the blank? Not sure? That’s because this sentence has no clue.
Now try it again:

Sophocles, who wrote the play Oedipus Rez, was
one of the most playwrights of ancient
Greece, completing 123 plays in his lifetime—double
that of any of his contemporaries.

famous

. bombastic

critical

prolific

eclectic

Now find the story. Who is the main character? Sophocles. What are we told
about him? He wrote 123 plays—double that of any of his other contemporaries.
Now it’s easy to fill in the blank with your own word. Sophocles was a productive,
bountiful, or copious playwright. He wrote lots of plays. When you go to the
answer choices, you know you are looking for something that means the same
thing or similar to productive or loss of plays, because your clue is, “completing
123 plays in his lifetime—double that of any of his contemporaries.”




More on the Clue

As you might have seen by now, finding the best
answer on a text-completion question depends on
your ability to find the clue. Putting it another way,
there is a word or group of words in the sentence
that basically tells you what the right answer is.
All you have to do is find the clue and then know
enough vocabulary to figure out the answer choice
that matches the clue. Why would ETS put the
answer to a question right in front of you? It has
to, or otherwise it could reasonably be argued that
there is more than one “best” answer to a question.
ETS couldn’t have that—it would be deluged with
complaints and challenges.

One important consequence of this fact is that the
clue is everything when it comes to text comple-

tions. Find the clue and the correct answer will
follow from it, '

\ J

text completion,

N

Sophocles was certainly one of the most famous
playwrights of ancient Greece. While this may be
true, your clue talks about the number of plays
he wrote. It says nothing about how well known
he was or is. While you might assume that a
playwright who wrote so many plays must surely
be famous, keep it literal. Assumptions will get
you into trouble. The clue points to one answer
choice and one answer choice only. Only prolific
describes the number of plays written. The other
four answer choices may fit the sentence, but none
is the best answer choice.

In some sentences, the clue will be fairly obvious,
while in others, the clue will be harder to spot. If
you're having difficulry finding the clue, ask your-
self the following questions:

1. Who or what is the blank referring to?
2. What other information is provided
about this subjec?

The answer to these questions is the clue. Let’s try finding the clue in the following

What is the blank
relerning to? What other
wtormation 1s provided

1 of 20

Because his one presidential term was marked by

about it? crisis and conflict, many historians consider the

Don't go to the answer
chmpepe ol
shoes until you've come
s vath vour own word for

the blank!
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presidency of John Adams

an expediency ]

an indulgence

a calamity

a regency

a sovereignty

Here's How to Crack It

First find the story. Who or what is the main idea? The presidency of John Adams.
What are we told about his presidency? It was marked by crisis and conflict. In
that case, how would historians view it? (Hint: Use your clue.) Clearly, his presi-
dency was problematic at best. Use the word problematic and compare it to the
answer choices, marking your progress on your scratch paper as you go.

. Does expediency mean the same thing or similar to problematic or
worse? No. Eliminate (A).

»  Does indulgence mean the same thing or similar to problematic or
worse? No. Eliminate (B).

. Does calamity mean the same thing or similar to problematic or worse?
Hmm, possible. Leave it in.

. Does regency mean the same thing or similar to problematic or worse?
No. Eliminate (D).

. Does sovereignty mean the same thing or similar to problematic or
worse? No. Eliminate (E).

You've got one answer choice left on your scratch paper. No need for further work.
You're done. The best answer is choice (C).

)

Now try using this technique to find the clue on the questions in the following
practice.

Text Completions
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Be systematic! Ask your-
self who or what is the
blank referring to? What
other info is provided
about that subject?

50 | Cracking the New GRE

Practice: Finding the Clue

Underline the clue in each of the following sentences. Then, think of your own
word for the blank and write it down. Answers can be found in Part V.

1of 8

The relationships in his life haunted
Eugene O’Neill and are often reflected in the
harrowing nature of many of his plays.

20f 8

Mount Godwin—Austin, more commonly known as

K2, is the second highest mountain in the world,

with its i
peaks reaching more than
28,000 feet high. ;

3of 8

A wind-chill warning is issued when the

temperature is projected to rea i
ch minus 25 d
Fahrenheit or lowe old

: T, the point at which the cold
as effects on living creatures.

4 of 8

Diirers still stum
70-year-old

_—
the waters outside Tokyo,

ble across unexploded shells,
from World War 11, in

5 of 8
Although some People use the termg
:lrtlt'imhangeablys mastodons and mammothg were
ite
» Mammoths were ha; ;

long tm airy with

’ astodon: -~ .
and flatter gkyjlg, s had low slung bodies

6 of 8

The mayor was definitely
crafted hig Policies not with an
politica} consequence
Practical effects,

; he
‘ eye toward their
8 but instead toward their

7 of 8
The first-year law student was amazed at the
sheer of the material he had to read

for his classes; he imagined that he’d have to read
for hours and hours each day to finish it all.

8 of 8

Our word “ghoul” is from the
Arabic word “Algol,” the name for the Demon Star,
a star in the constellation Perseus.

A Quick Word About Your Words

Once you've found the clue in a sentence, you've done most of the heavy lifltinl%.
Don't strain yourself trying to come up with the perfect GRE word for the b a}? .
Simple words like bad, good, different, and same are perfectly okay, as long as they
get the main idea of the word across.

: . . .
Or, to make your life even easier, recycle! Many times, the clue itself can b
b

recycled into your word for the blank.

Positive/Negative . .
In some cases, you might not be able to come up with a wor.d, but you rr}lght
know whether the word you're looking for is positive or negative. Look again aF

question 3 from the previous practice exercise:

A wind-chill warning is issued when 'the
temperature is projected to reach minus 25 degrees
Fahrenheit or lower, the point at which the cold
has effects on living creatures.

i i k, but you
You might not have been able to think of a word that ﬁf in tlhelpljm , but ‘irres
probably guessed that these very low temperatures don’t help iving crearu r
in any way. So you can eliminate any answer choices that contain “positive” o

beneficial adjectives, right off the bat. Every little bit helps!

i i no other
However, don’t rely on positive/negative connotations unless you have no
’ . »
option. It’s better to recycle the clue if at all possible.

Text Complstions

51



TRIGGER WORDS

Let’s take a second look at the mastodon sentence from the clue drill.

Although some people use the terms mterchangeably
mastodons and mammoths were quite ,
mammoths were hairy with long tusks, while

-mastodons had low-slung bodies and flatter skulls.

'Inlllc mf:: fhart of :;hhem sentence tclls us that many peopla use the terms mastodon and
interchangeably, and yet clearly the two are quite different. If our clue

is interchangeably, the word in the blank will be
o f
- you know this is bccause of the tngger word, * Althgli:;}sltf’e of the clue. The reason

Tnggers tell |
N oppouy;u O}sr:xhe:l:fr thc word for the blank should match the clue or

Think of it {his way:

I'won the lottery, and. ..
I'won the lottery, fur. ..

p al
ways lmpacc the meamng of the word in the blank

N

:l“t;ough while - thus
st  however similarly
. mhcr ‘ e :'unfortunately and”
‘th: . in contrast - ,ithcrgforc
previously de:sP“e o »“he:e{éfbrc'
| 7 ; (semicolon) and :
Note the e ' (COlon)

and th o
jdi"d“ascntem u: °S€mlcolon in

Practice: Clues and Triggers

Undetline the clues and circle the triggers in the following sentences; then come up with your own word for the blanks.

Recycle the clues if possible. Answers can be found in Part V.

1 of 8

The star receiver is widely regarded as one of the
top talents in the game, but his
performance as a rookie almost ended his career.

20of 8

The prime minister received international
for her work; she brokered
a diplomatic solution to a potential crisis.

3of 8

While it is often assumed that drinking alcohol is
detrimental to one’s health, many studies have shown
the effects of having a glass or two of
wine daily.

40f 8

Despite the increasing technological connectivity
of the modern world, many cultures still remain
from the global society.

5 of 8

Although m}a,ny cultures view the toad as a symbol of
ugliness and clumsiness, the Chinese revere the toad
as a symbol.

6 of 8

Stock analysts often use holiday sales to gauge future
stock prices; thus, retail performance can be an
important of market trends.

7 of 8

It is somewhat ironic that while the population
at large tends to have a negative view of the
legal profession, individuals rarely display

such to their lawyers.

8 of 8

Methyl bromide is a pesticide that has devastating
effects on insects; unfortunately some believe it has
the same to humans.
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Practice your scratch

paper technique.

Remember tg skip and
tome hack)f the sentence

15 notimmediately clear
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You probably noticed that sentences can have multiple triggers. For example, a
same-direction and a change-direction trigger will cancel each other out, while
two change-direction triggers in the same sentence will also negate each other.
Look at the following examples:

Although Jextremely poisonous, the puffer fish is
@ o rare that many people insist on eating the
creature.

In this sentence, there is one change-direction trigger, although, and one same-
direction trigger, a/so. But the clue is that the fish is extremely poisonous and rare.

b}
We wouldn’t want to use words like nonpoisonous or common for the blank—the
triggers cancel each other out.

It is somewhat ironic thathe population

at large tends to have a negative view of the
legal profession, individualsdisplay
such to their lawyers.

.

[hel’e are two C] 1a i i i i € ati V

view,” an
' 4 (}i’1 the wo‘rd fo.r the blank would also have to be something negative. Thus,
¢ two change-direction triggers cancel out.

PUTTING IT ALL TOGETHER

N b}
OW youre ready to put all your techniques together. In the following drill, find

the clue and any triggers. C .
use POE to pick thegfest ‘ansov:i up with your own word for the blank, and then

Remember to yse your scrat
completion questions is in fi
look at the answer chojces un

ch i
: pap}fr. The place to invest your time on text-
n

Ing the story, the clues, and the triggers. Do not

til you have a crystal clear idea of the story being told.

BCCQUSC (hCl’C are words missing
3

) . th i ;
1mmf’d1ately clear. If you are havi © ory being cold in the sentence may not be

ne tr o .
8 trouble bringing the story into focus, do not

e Cover your answer choices.

e Find the story being told.

o Identify clues and note the direction of triggers.

¢ Walk away if the sentence is not clear.

*  Read with your finger.

»  Come up with your own word for the blank.

»  Work quickly through the answer choices, using your scratch paper to
keep track of which ones are in and which ones are out.

. If you are stuck between two choices, walk away.

o Ask yourself the question “Does the clue point to my answer choice

and my answer choice only?”

Do Not:

e Stay with a sentence that you cannot fill in your own word for.
e Go to the answer choices and start plugging them in.
¢ Go to the answer choices until you have come up with your own

word for the blank.

e Select an answer until you have a mark on your page next to each

answer choice.
e Eliminate an answer choice unless you know exactly what thar word

means and have a good reason.

If your hand is not moving, you are getting caught thinking. Walk away
and do a different question.

Text Completions
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Text Completions Dirrill

Answers can be found in Part V,

1 of 6

Despite the smile that spread from ear to ear, her
eyes relayed a certain

jubilance

Sorrow

mischievousness

vision

liveliness

20f 6

Some historians see the Jacksonians as little more
than ruthless capitalists who had
regard for individual welfare.

_—_—

mixed

undue

inconsistent

scant

obtrusive

3of 6

One of social science’s major themes is that of

stability versus change; to what extent are individual

personalities i
yet different over time?

transient
maladjusted
static
%

discreet
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‘ i

4 of 6

The Erie Canal’s completion caused
economic ripples; property values and industrial
output along its route rose exponentially.

persistent

invaluable

incredulous

severe

prodigious

5of 6

Voters have become so inured to the fickle nature of

politicians that they responded to the levy of a new
tax with

—_—

amazement

stolidity

exasperation

alarm

perplexity

6 of 6

The division between child-
emphasize originality and
that place emphasis on ad
compliance with rules disc
stems from the
based.

rearing goals that
personalization and those
option of conventions and
loses a that

principles on which these goals are
—
contradiction
monotony
benefit

forseeability

_gemius |

AN IMPORTANT WORD ABOUT USING POE

Sometimes you might do everything right—you might find the clue, identify the
triggers, and come up with a great word for the blank—but you will still be sty-
mied by the vocabulary that ETS uses in the answer choices and have no idea
what any of the words means. '

In these situations, it is important to make use of POE strategies:

1. Never Eliminate a Word You Don’t Know. If you have any doubts
about the meaning of a word, do not eliminate it! Never get rid of an
answer that just doesn’t “sound good” in the sentence.

2. Spend Your Time Working with the Words You Do Know. Focus
your energies on the words you do know, trying to match them with
the clues in the sentence.

3.  Use Positive/Negative Associations Wherever Possible. Be aggressive.
If you know you need a positive word, eliminate any negative words.

Take a look at the following example:

14 of 20

Years of confinement in a sunless cell had
left the prisoner wan and weakened, with a
shockingly appearance.

sidereal

boisterous

etiolated

singular

circumscribed

Here's How to Crack It
The clue in this sentence is “wan and weakened,” so we need to look for a word in

. . »
the answer choices that means something like “wan and weakened.” However, the
answer choices are a vocabulary hater’s nightmare (or a pleasant dream, for the

word lovers in the audience!).

Let’s go through them. Choice (A) is a tough one—if youre not sure of what
this word means, you can’t eliminate it. Just leave it, and we’ll worry about it
later. You might know that choice (B) means to be loud and noisy; if so, you can
eliminate this choice. The third choice is another difficult word, so let’s move on
to the fourth word. You might be aware that singular doesn’t mean weak or wan; it
means being one-of-a-kind or unique, so you can safely eliminate this choice. The

Never eliminate words
that you don't know.

Text Completions
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Multiple blanks aren't
that big of a deal. Use the
same approach as you do

for single blanks.
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final choice is circumscribed. Looking at this word, we might note it has the root
scribe in it, which has to do with writing and drawing. Once again, it doesn’t seem
to match our clue so we can eliminate it. That leaves us with just two choices. At
this point, you've done all you can do, so go ahead and pick one of the two. The
important thing is to use careful POE to increase your odds.

By the way, the correct answer is etiolated, which means to cause to appear pale or
sickly.

TWO- AND THREE-BLANK TEXT COMPLETIONS

ﬁcme.mbcr that we said earlier that not all text-completion questions on the GRE
ave just one blank: ETS will ratchet up the difficulty level of text-completion
questions by presenting you with sentences that have as many as two or three

blanks.

How i ’ i i
eve}rl, the techniques youve learned in this chapter constitute the basic
approach to all types of text completions, no matter how fancy. Here’s an example:

N

8 of 20

Federa% efforts to regulate standards on
e.ducatlonal achievements have been met by
(1) from the states; local
governments feel that government imposition
Tépresents an undue infringement on their

(ii)

Blank (i) Blank (ii)

receptivity autonomy
intransigence legislation
compromise comportment,

Here's How to Crack It

Step 1:

Step 2:

Step 3:

Step 4:

Engage the hand. Make a column on your scratch paper for
blank i and blank ii.

Cover the answer choices and find the story. We have a
semicolon that divides the sentence into two separate but
equal parts. The first part says that the states have reacted
in a particular way to federal regulation, but we don’t know
what that way is, so let’s check the second part. In the second
part we’re told that the local governments feel that the regu-
lation is an “undue infringement” and an “imposition.”

Come up with your own words for the blanks. We know
that the first word must be something negative so put a
negative sign above your first column. For the second col-
umn, use the information in the story to come up with your
own word. Federal standards would impact a state’s ability to
decide standards for itself, so try something like “rights” or
“decision making” and jot it down on your scratch paper.

Use Process of Elimination. Put down an “x” for any answer
choice that does not work. Under the first blank, receptivity
and compromise are both gone because they’re positive words,
and we need a negative word. The middle word stays; even if
you don’t know what it means, it doesn’t matter. No need to
spend any more time on it than that. For the second blank
legislation is tempting, since we’re talking about governments,
but it’s meant to be tempting. Our words are rights and deci-
sion making, neither of which means legislation, so put an “x”
in the middle slot. Comportment means the way you carry
yourself. That’s not even related, so give that one an “x” too.
Autonomy is the closest to rights or decision making; in fact it
fits quite well. We have an answer. When youre done, your

scratch paper should look something like this:

HKAX -
HK XK =

Text Completions
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Don't try to deat with all
the blanks at once. Take

them one at a time,

Can you come up with your
own word for the hlank?
Are there other words that
could also work?
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Let’s try another one.

5 of 20

Many popular musicians have (i)

new digital technologies that allow them
unprecedented control over their music. These
musicians use computers to (ii) and
modify their songs, resulting in a level of musical
precision often unattainable naturally. Of course.
though, as is often the case with new technologies.
some traditionalists (iii) these
developments.

Blank (j) Blank (ii) Blank (iii)

incorporated

energize balk at

synthesized delineate revel in

recast retaliate at

alleviated

Here's How to Crack It

Don’t be intimidated by the multiple-blank sentences; just try to isolate each blank

and ap}?ly the strategies we taught you. You don’t haye to work the blanks in order:
Start with whichever one of the blanks seems easiest to you.

For this one, ler’s start with the second blank. The
is and, so we need to fi

usicians are modifying their song
modification, we need a word like
answer choice in the first box thar’

s and also have unprecedented control over their
using or embmcz'ng for the first blank. The only
s even close to this word is incorporated.

act to these ey technologies? ‘They

would probably reacy negatively, so we need 4 word like reject or dislike for the

third blank.

posttive sentiment, so we can

ely Negative, but there is n0thing in the sentence

RELATIONSHIP BETWEEN THE BLANKS

Many two- and three-blank text completions hinge on the use of trigger worclls,
and don’t contain really strong or obvious clues that you can rely on. For example,

look at the following sentence:

6 of 20

Jenkins is an artist known for engendering strong
reactions in his viewers; in fact, some of h1§ more
(1) paintings have caused viewers

extreme (ii)

Blank (i) Blank (ii)
ominous discouragement
accomplished discomposure
innovative resoluteness

Here's How to Crack It , ' _
What if you put a positive word in that first blank, let’s say joyous, what would hap

i d such as joy. On the oth-
h nd blank? You would have to put in a wor
gre 1}11;2(; ?fs;cfs purt in a word such as offensive for the first blank, you 'wcf)uld n?ed
i i for the second blank. The very information
something along the lines of offense . .
is, i k. What should be a clue is another
d for one blank is, itself, another blan : .
)l,:l):nllzein t(l)lrese cases all you have to go on is the relationship between the blanks.

Start by noting each answer choice on your scratch paper with a simple + or — sign.
Your scratch paper should look like this:

¥+ -
)

Text Completions
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Study vocabulary every

single day.

Need more
info? Check
out the DVD.
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2 .
We've already determined that there is a strong relationship between the two

blanks. Both words need to be “on the same si
me sid NN
closely related. ¢ side of the fence,” which is to say,

The word for the first blank is negative, so it can go with only two of th
second blank words. Somethingominous wouldn’t necessarily cause d iscoura eme :
0 you can cross oft discouragement. Something ominous could cause iisc m
5:2::::’ 1-8(;, tclius pair ’is possible. Moving on to the positive words, someth(i)rrlz
PliSth[? éso :letLv;L;l(ii;lntosztciessanlyl Cc;al’me resolufeness, s0 you can cross off accom-
both offbecyran o mnovat vewouldn t.necessanly cause resoluteness either, so cross
positive pair that works. You're left with ominous and

discomposure as the on}
: y two that could possibly work. If idn’
word discomposure but could guess that it’s neg};’ativer o would il o

question right because you would have eliminated all Oth)’OU would still get this

er possible pairs.

e

If ‘
there is no clear clue, look for the relationship between the blanks

THE LAST WORD—VOCABULARY

s we've seen, using the rechns i i
8 the techniques, including POE, cap help you a great deal on

. h .
ompletion questions, However
>

the « ) )
Vocabulary wall”—the point at which yo on some questions you hit

3
ure stuck because you don’t know

st day. Memorizing the Hit

but the :
fe are myriad other ways of increasing

your vocabulary,

b
Here’s the moral of the g

new words every day, tory: As you

i prepare f
in whatever way Pare for your GRE, try to keep learning

works best for you.

ypmnsrivusoen

Text Completions Practice Set

Answers can be found in Part V.

1 of 10

Although the concept of vegan donuts did not
appeal to Sean, he actually found them to be
once he finally tasted them.

quite
detestable
unappetizing
bland
gleeful
scrumptious
2 of 10

Although using recorded birdcalls makes the California
gnatcatcher less (i) and easier to
observe, it also seems to (ii) its
normal mating patterns.

Blank (i) Blank (ii)
timid direct
approachable increase
tameable upset

3 of 10

The sparring of the two lawyers appeared»
(i)%___ : however, it is well known that,
outside the courtroom, the friendship between the two
is (ii)

Blank (i) Blank (ii)
pointless obvious
lighthearted cooperative

hostile concealed

4 of 10

The notion that socialism, which emphasizes
collective ownership of the means of production,

(i)

individual expression is

supported by historical studies that have shown

that individualism has (ii)

only

in societies where socialist programs have been

(iii)

Blank (i) Blank (ii) Blank (iii)
promotes diminished improved
inhibits thrived sponsored
fosters wallowed abandoned

5 of 10

At first, humans were (i)
convenient sticks or stones to

(ii)

tool users,

achieve a purpose, but then (iii) the
tool when finished with that purpose.
Blank (i) Blank (ii) Blank (iii)
prehistoric employing annihilating
casual contriving concealing
adept fashioning discarding
6 of 10

Jean Jacques Rousseau, whose social philosophy

was often austere, was in his personal life a
man: he attended

fashionable Parisian parties, wore flashy clothing, and
dated other men’s wives.

surprisingly

flamboyant

indisputable

pristine

astute

courteous

Text Completions



T oof o

When developing o completely new skill. it is
tvpieal to teel (i) - One’s status as a
Pii - however s usnally ephemeral, as
the nitiad sense of awkwardness soon gives way to
Hiastery,

Blank (i) Blank (ii)
caliwmmnions dessicant
impertinent tyro

_“jnul;ulrt it demagogue

~of 1o

The Objectivist mantra, A js A

! is of course a
i

' 7 with which no logical person could
<i|.x‘n;',rw-. The problem is that those who cite this

Axiotn ill\"lll‘i.’lf)]_\' proceed to substitute in different

comeepts for the first A and the second. in a feat of
verhal (1) - worthy of a stage magician
aud then procecd as if the int('r('h;lllgvabiTitv of theﬁe?
voneepts s iudisputable. ) ‘

.. Blank (i) Blank (i)

filivree

N 'rl_l.l tology

(uindary
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9 of 10

The American public venerates medical researchers
because the researchers make frequent discoveries of
tremendous humanitarian consequence: however. the
daily routines of scientists are largely made up of
result verification and statistical analvsis. making their
occupation seem

fascinating

quotidian

recalcitrant

experimental

amorphous

10 of 10

To his friends and social companions, Gomez
seemed a pleasing combination of affable

a i ;
bnd' (1)\_ . His employees and
usiness associates, however, found him to be as

il ;
( )\ as he was officious.

Blank (ii)

meddlesome

prescient

puerile

L

Summary

o}

In text—completion questions, come up with
your own word for the blank, using the clues
and triggers in the sentence.

If you can’t find the clue, ask yourself: Who
or what is the blank referring to? What other
information is provided about that subject?

Trigger words tell you whether the word in the
blank should be similar to the clue or opposite
of the clue.

After you've come up with your own word
for the blank, use POE to eliminate words
that arent close to your word. Don't elimi-
nate words if you are unsure of their meanings.
Focus on the words you do know.

If the sentence has two or three blanks, do
the blanks one at a time. Pick the easier (or
easiest) blank to start with; find the clue, come
up withaword, and use POE. Then repeat for the
remaining blanks.

Keep studying vocabulary. Make sure to look
up any words you don’t know.

Text Completions
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Chapter 5
Sentence
Equivalence

This chapter details a variation on the rtext
completions you learned about in the prior chapter.
Sentence-equivalence questions still require you to
find the best word to complete a sentence. For these
questions, however, you'll have to pick the two answers
that best complete the sentence; this means the two
correct answers will be synonyms. Because both words
create sentences that are equivalent—both have the
same meaning—we refer to these types of questions
as sentence-equivalence questions. This chapter will
show you how to apply the strategies you learned last
chapter and use Process of Elimination to answer these

questions.



LL SEE AP ing similar i -equi uestions are also ver
WHA;)'. vouhwll hapter when we alluded to the “other” type of text- Besides being similar in appearance, scntenccsequlvalcnce q 1 are ale havz
in the last chapter esl 1 apk i ecuivalence
lc{:r;n;lr:ti; q‘:wstion> Well r[:ow it’s time to look at these questions in a little more similar to text completif)lils 1}111 theli stru;t‘;l;cl.o of{ztience q q
. , i i , just like the sentence
derail. These questions are somewhat similar to the one-blank text-completion Clu'CS éfll]d tzlings ju - —— ; ~
i i i apter 4. : ‘ N
questions we worked on in Chapter 4. However, they are different in several major at in Chap ' Tackling Sentence Equivalence | | -
i i ix answer choices, not five. Second . . L by | e cquivalence is almost
respects. First, these questions always l:javc Sll“ik the tWO answers. thar complete’ However, sentence-equivalence questions are even | 'Ihe ggpgzas:h to s’enzencmk I;lt ks s almost.
ou need to pick the . : ‘ the same as text co; .
Zhe meaningpof the sentence in the same way more vocabulary-driven, because they require you sa p’ s i el
: ’ t are synonymous. PR e
Generally this will mean synonyms, but they don’t to find two answers tha ynony. Up Your Seratch Paper. You will K
need to be exact synonyms, as long as the mean- _ e At s iiivalencc ina.
ine of th Yy }’th ’S e & Remember that the meaning of the sentence must thrcew cg‘r; ent sw(elrf‘choices' oL
g Of the sentence stays the same. stay the same. For that to occur, the meaning of ToW. Eac ¥ atsl:maner I Fyou d o I;’t ‘ingi
You should expect to see about three to five the sentence must be clear to you. Just as with text Pi{;)mw:an - paphe question ia yous
sentence-equivalence questions on your GRE Verbal completions, the place to invest your time is in the ry swer th
sections sentence.

Now, here’s what a sentence-equivalence question looks like:

You cannot go to the answer choices until S Wi rwb Sy
How does this question 2 of 20 , you have a CFYS'J’AIL ileal understanding of s i a;j:,y : abaut,and x%{haz,até
. _ ing t the sentence. b R e T e
dl'”?' from the text Anthropologists contend that the ancient the story being told by yor w}diam'tha‘?m o th;gg?
completion qléehsatg;:f‘;‘; Mesopotamians switched from grain production O 1 55 th

to barley after excessive irrigation and salt
accumulation made the soil

grains.

O indifferent to

The good news is that you don’t have to do this
- inbospitable o all in one go. Some of the sentences are .tough,
and, of course, there is information missing. If
V ' the sentence does not come into focus after the
' acrimonious to

3 unsuitable for

first or second reading, walk away. Mark that sen-
) benignaat to tence and go do some easier ones. Often you vatxel:
0 inured to ' ﬁnd. that, when you return to a sc?ntc:nci’.i da 1
Need more having done a few others, the meaning su enly
infO?hChg\(;IB Our goal is 10 choose the TWO answers thar produce sentences with similar becomes clear. Also, the time you would otherwise
out the . mea

nings. In other words, you'll be clickin

g on two answer choices instead of one. have spent staring at a difficult ?roblcm in ﬁl'lus—
tration, you have now spent getting a few other
questions correct. You should always be spending
your time doing, not thinking.
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Take a look at the grey box for the basic approach to sentence-equivalence ques-
tions, which is identical to the method for text completions you already learned.
Then try it out on the question we just saw:

)

2 of 20

Anthropologists contend that the ancient
Mesopotamians switched from grain production

to barley after excessive irrigation and salt
accumulation made the soil grains.

indifferent to

inhospitable to
unsuitable for
acrimonious to

benignant to

O0o0Oo0ooo

inured to

Here’s How to Crack It
First, look for the clyes and tri
that the Mesopotamians “switched f,

u: the blank has f0 mean something along the lines of 44 for or unsuited for. Now
it's a matter of going to the answers and using POE.

Answer choice (A) doesn’t match the clue;
both pretty close to the words we

oice (E) is a positive word, so you can

something bad. Tha dec » inured to means to become accustomed to
8 a2t doesn’t match our choices either, so eliminate jt The best
answers are (B) and (C), .

you don’t know what acrimonious ot inured means, you
correct answer. How? By POE of course! All the guide-
text completions sill apply here. As we said in Chapter
k with the words you do know and leave the unknowns

€an answer the question for you. If you have two words
3 .
on marks, you're done. Pick the ones that work.

_

Sentence Equivalence Drill

Work the following questions, using the same approach you used for text completions. Check your answers in Part V

when you're done.

lof 5

To any observer, ancient or , the night
sky appears as a hemisphere resting on the horizon.

[l antiquated

O perceptive

0 modern

O astute

O contemporary

0 archaic

20f 5

- Researchers interested in the nature versus nurture

debate use identical twins who were separated at
birth to explore which personality characteristics
are compared to those that arise
through experience.

O intractable
O nascent
O erudite
O innate
0 predilection

a instinctive

dof5

The Canadian Prime Minister, Mackenzie King, often
Used séances to contact his dead pet dog for advice;
behavior, the public had
80 much conmmlity as a leader that he

despite this

W88 in power for 22 years.

0 aberrant

O lackluster

0 poised

a unconventional
D repulsive

O decorous

4 0of 5

The circulation of the blood makes possible human
adaptability to the conditions of life,
such as atmospheric pressure, level of physical activity,
and diet.

L] inveterate
(1 dynamic
O timorous
0 cowed

[0 turgid

[J fluctuating

50f 5

Arriving in New Orleans days after Hurricane
Zelda had passed and without an adequate number
of vehicles of its own, the armed forces began to
any working form of transportation
they could find, including a bus that had been
chartered at great expense by a group of tourists.

OO repatriate
[J commandeer
[l extradite

[1 interdict

[0 expurgate
(] appropriate

Sentence Equivalence | 71




Can you identify any
of the words as positive
or negative?
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PROCESS OF ELIMINATION STRATEGIES

With six answer choices in front of you, there are many opportunities to make
effective use of Process of Elimination. Here are a few things to look for.

Positive and Negative Words

One strategy that you can use to answer sentence-equivalence questions is to sepa-
rate the answer choices into positive ones and negative ones. Remember how we
talked about positive and negative words in Chapter 4? You don’t need to know
the dictionary definition of a word if you can somewhat confidently identify the

word as being positive or negative. Here’s how you would use them on this type of
question:

6 of 20

Despite the implications of their noble status, many

aristocrats were virtually penniless and lived in a
state of

O indigence
0 opulence
UJ eminence
U penury

] depravity

d complacency

Here's How to Crack It

The trigger in this sentence, despite,
has a meaning that’s opposit
the aristocrats  were

consider negative words.

tells us that we need a word that
: //e to noble status. Also, the clue states that
virtually - penniless. Therefore, we only want to

Let’s look at the choices and see if we can figure
out if they’re positive or negative. The third word
is eminence. Can you figure out if this is a posi-
tive or negative word? You might have heard the
word eminent before, as in an eminent doctor or
an eminent scientist. 'This is a good word, so let’s
eliminate choice (C). Choice (F) is complacency.
Are there any other words you've seen that remind
you of this word? You may have heard the word
placate before. This word means to please someone.
Or, how about the word placid? That describes
someone who is calm and satisfied. Each of these
words—complacent, placate, and placid—share
the same root, plac-, which means to please. So it
looks like we can eliminate choice (F).

We've eliminated two words, but we've still got
some tough ones left. Dont give up! Look at
choice (E). Depravity is certainly a negative word,
but does it match the clue? Would you describe a
penniless person as depraved? Not likely, so we can
eliminate choice (E) as well. That leaves only three
choices. If you were to guess at this point, you'd
have a one-in-three chance of guessing correctly.
Of course, if you know the meaning of just one of
the remaining three words, you're in pretty good
shape as well. For example, if you know that
opulence is a positive word, then you've got the an-
swer—it has to be choices (A) and (D), which
both mean to be poor. If you know the meaning of
either choice (A) or choice (D), then you have a
ﬁfty—ﬁfty chance of guessing correctly, which is
not too bad ar all.

( I
Word Roots

Learning word roots gives you the opportunity to get
more bang for your vocabulary buck. You'll prob-
ably never know all the words the GRE will throw
at you, but by mastering some common roots, you
might know just enough about a mystery word to
determine whether you should keep it or get rid of
it. Here are some common roots to get you started:

*  Benlbene—good. Examples: benefit,
benevolent, benefactor

*  Mallmale—Dbad. Examples: malign,
malevolent, malediction

»  Animus—spirit, soul. Examples:
animate, magnanimous

s Ciselcide—cut. Examples: excise,
homicide, circumcise

*  Genlgene—type, kind. Examples:
genesis, generate, homogenous

¢ Port—carry. Examples: export, transport,

porter
e Androlanthro—man, person. Examples:
anthropology, android

Obviously, this list barely scratches the surface of

-~ word roots but you get the idea. Look for roots in
your Hit Parade words (in Chapter 7) and any other
new words you learn.

\ /
Look up words you
don’t know.

3
Let’s move on to another strategy.

Synonym/No Synonym

If you're pretty familiar with the words in the answer choices, you -can use
your vocabulary to eliminate certain answers and to lump .cer'tam' other
answers together. You do this by looking at the choices and first eliminating any
answer choice that has no synonym among the remaining choices. You can also
identify pairs of words as synonyms and lump them together.

Sentence Equivalence

73

T



74 | Cracking the New GRE

T

Consider this example:

3 of 20

Because mercury has a variety of innocuous uses,

including in thermometers and dental fillings,

few people realize that it is one of the most
substances on the planet.

acidic
irritating
mundane
deleterious

disagreeable

O000o0oaOo

pernicious

Here's How to Crack It
Work with the answer choices and see if we can lum
N0 synonym groupings. First,
answer choices.

p them into synonym/
eliminate choices that have no synonyms among the

We can start by climinating choice (A).
meaning to the word acidic,
goes for choice (C). There is

mundane, so eliminate ir.

None of the other choices are similar in
so choice (A) cannot be the correct answer. The same
no other answer choice that’s similar in meaning to

Next, we'll group the femaining choices together. You might notice that choice (B)
and’ choice (E) are synonyms for each other, which means if you select one of them,
you'll have to select the other. The same logic applies to choices (D) and (F). With
ff)ur answer choices left, you now have a fifty-fifty chance of getting the question
right: you know that the correct answer s either (B) and (E) or (D) and (F).

g for a word that means the opposite of
(D) and (F) are the best answer.

—_

IF YOU'VE NEVER SEEN THE WORD BEFORE

No matter how expansive your vocabulary is, at some point you'll probably run

across a word you've never seen before. Don’t panic! Just work with the words you
do know and rely on your old friend POE. Take a look:

&
5 of 20
Despite their outward negativity, many a cynic
harbors an inner faith in the of
mankind.

[ benevolence
precocity
parsimony
ignobility

antipathy

O 0o0ooaog

probity

Here’s How to Crack It

First things first. The clue for this sentence is outward negativity, a{ld we also llufvc
the trigger word despite. Thus, we need a word meaning the opposite of negativity.
This question definitely calls for a positive word. That's the easy part; now we have
to deal with a number of difficult words in the answer choices. Do the best you
can with the words you know and leave the words you don’t know alone-. Starting
with choice (A), it looks like we have a keeper. The prefix bene- is Psed in tons of
positive words—benefit, benefactor, benign, beneficent. Choice (B) 1.s a, tough one,
so let’s leave it for now. The same goes for choice (C). Choice (D) isn’t ,so bad. It
has the root word 70ble in it, which is certainly a good word, but we've addc.d
the prefix ig- to the word. That’s probably a bad thing. We shoulfi eliminate rl-us
choice. Similarly, choice (E) has the prefix ansi-. That means against or opposite,
which is also generally bad. So we should eliminate this choice as well.

So far, choice (A) is definitely in, while choices (D) and (E) are definitely out. EV(?;}
without knowing either of the words in choices (B), (C), and. (F_): we would sti
have a one-in-three chance of guessing correctly—the answer is either (.A) and (li)f,
(A) and (©), or (A) and (F). Not too bad for only knowing four of tl.le fxx wor}clis..
We want to take our POE a step further, we could probably even ehmmate, c onlcle
(B). The word has the prefix pre- in it, which means beforff. '.That c'ioc':;;llt really
have much to do with good or bad, so we could probably ehml.nat;:1 it (:X)glvc;
" a ﬁft}"ﬁfty chance of guessing correctly. The actual ans?ver. is choices an
(E). Probity means good behavior, while parsimony means stinginess.

Y

There's no substitute for a
strong vocabulary.

Sentence Equivalence
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Sentence Equivalence Practice Set

Work the following questions, using all the techniques you've learned for sentence equivalence. Check your answers in

Part V when you're done.

L of 5

Possessed of an insatiable sweet tooth, Jim
enjoved all kinds of candy, but he had a special
__ for gumdrops, his absolute favorite.

O container
oaffinity
2 odium
0 Hature

wd disregard

Laopredilection

2of 5

Although the Wright brothers first attempted flight
e INOG was o w—ee . and subsequent efforts
stnilarly ended in failure, they persisted and ultimately
made the first successful airplane flight in 1903

i flasco

i
1

o debaele
L hindrance

LDt

L4 trinmph

wd precedont

dof 5

The e efficiency of most vehicles traveling speeds
greater than 30 miles per hour as
——
e to the additiona)
detmands placed on the vehicle.

the vehicle's speed increases,

i

w4 ealizes

L adapts

4 stabilizes

diminishes
ncreases

D wanes
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4 of 5

Robert’s outwardly amiable disposition belied his
nature; he was more than willing to
badmouth a colleague’s work or spread gossip if he
thought it would help him advance his career.

U innocuous
U malicious
gregarious
insipid

affable

O 0Oog

churlish

5 of 5

The kenjogo or humble language used in Japanese to
refer to oneself and the sonkeigo or honorific language
used to describe the interlocutor are often toned down
in English translation, as more accurate renderings

might sound to an ear accustomed to
. .\ .
more egalitarian phrasings.

U servile
garrulous
obsequious
circumspect

querulous

O 000oo

loquacious

Summary

o The approach for sentence equivalence is the
same as it is for text completions. Ignore the
answer choices, look for clues and triggers, and
fill your own words in for the blanks.

o Use positive and negative associations to
eliminate answers.

o Try to group answers choices with their

. 3

synonyms. Eliminate any choices that don’t
have a synonym.

o Keep working on vocabulary every day!

Sentence Equivalence
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Chapter 6
Reading

Comprehension

Reading-comprehension questions on the GRE can be
quite deceptive. On one hand, the answer to the ques-
tion is somewhere in the passage. On the other hand,
ETS is really good at crafting answers that seem right
but are, in fact, wrong. This chapter will teach you the
best way to approach the reading passages on the test
and how to attack the questions. Furthermore, you'll
learn how to use Process of Elimination to get rid of
wrong answers and maximize your score.

sl
-
-

S
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Reading comprehension
15 like an open-book test;
The correct answer to

every question is some-

where in the passage.

Need more
info? Check
out the DVD.

WHAT YOU WILL SEE

On the GRE, you'll be presented with abou eight reading passages, varying in
length from a mere twelve lines to more than fifty lines. After each passage, you'll
be asked to answer a number of questions. Your task is to choose the best answer
to each question based on what is stated or implied in the passage. Translation:
The correct answer to every question is somewhere in the passage. In fact, think of
reading-comprehension questions as an open-book test. Your goal s
simply to locate the answer within the passage.

Let’s get started.

READING AND THE GRE

Although it might seem like reading-comprehension questions shouldn’t be very
hard, ETS makes these types of ques
assumptions.

tions difficult by exploiting some common
The reading skills you'll need to use for reading-
GRE are quite different from the ones you use i
challenge will probably be the limited time you

comprehension questions on the
n your everyday life. The biggest
have to answer the questions.

For one thing, ETS (intentionally) chooses readin

;d a}nd are conferned with unfamiliar and, in some cases, intimidating topics,
oping that you'll have a tou

gh time absorbing the entj .
short amount of time they g g the entirety of the passage in the

ve you. In many cases, that is exactly what happens:

Tes i i \
t takas spend too much time trying to understand what they've read and not
enough time working on the questions.

g passages that are complicat-

?TShaﬁo hopes t%xat you will overanalyze the text. This level of critical thinking
$ Wholly appropriate for most types of academic reading, but on the GRE it only

leads to trouble. Th

- 1he way to crack the readin i .

: ortion of the

into the passages, not more, &P ' GRE s to read less

I‘Mthough it may sound counterintuitive,
important part of reading-comprehensio

you don’t get any points for reading the
the GRE is to amass as ma

In some ways the passage itself is the least
n questions. This is for 3 simple reason—

: Passage, and the only way to do well on
Ny points as possible,

Okay, you're ready to take a look
questions,

at . .
our approach to reading-comprehension

REA
L

DING COMPREHENSION: THE BASIC APPROACH

Attack the Passage. This step will vary
slightly based on the length of the
passage you're dealing with, but in each
case, the goal is to read less, not more.
Size Up the Questions. Reading-
comprehension questions on the GRE
can ask you to do a variety of things.
Make sure you know what the question’s
asking you to do.

Find and Paraphrase the Answer. This
is the key. Always return to the passage
to find your answer; never answer it from

-~

~ The Directions
These are the directions as they will appear on your
 GRE: |

Directions: Each passage in this group is
~followed by questions based on its con-
~tent. After reading a passage, choose

the best answer to each question.

\

~ Answer all questions following a N
- passage on the basis of what is statedor -
implied in that passage. S

memory!

4.  Use Process of Elimination. You can use
a number of helpful POE guidelines on
reading comprehension. We'll go over
these in detail in a moment.

Let’s start by looking at Step 1 in some more detail.

- Here are our directions:

- Directions: This is not really a test of *
~ reading, nor is it a test of comprehen-
_ sion. It's a treasure hunt! You can find
- allof the answers in the passage. ~~ =

ATTACK THE PASSAGE

On the GRE, you should never read a passage just for the sake of reading it; that
is, you should always have a goal in mind before you start reading. Most of the
time you'll be reading with the goal of answering a particular question, but for
your initial reading, you're concerned only with discovering the following:

1. The Main Idea/Purpose. What is the author writing about and why?
2. The Structure. How is the passage organized?
3. The Tone. How does the writer feel about the topic?

Fortunately, you can often figure these things out with just a cursory initial read-
ing. Additionally, because the GRE is a standardized test, you can also expect
that you will see many passages types that are fairly similar in their tone and
organization.

Reading Comprehension and the Computer

~ Reading comprehension is presented on a split screen. The passage is on the left

side and stays there while you work on the questions; you may haYe to use the
scroll button to read the whole passage. The questions are on the right side a.nd
they appear one at a time. It’s very important to practice rcafiing comprcl.lcnsmn
on the computer because you'll have to get used to not being able to cxrclc. or
underline words, bracket text, write notes in the margin, and so on. Reading

 text on a computer is also more difficult than reading text on paper. Start

You don't have to read
avery single word of
the passage in order to
answer the questions.

Reading Comprehension
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practicing good habits right now. As you work through this chapter, and any time
you practice reading comprehension, don't allow yourself to write on the passage.
Anything you write must be written on scratch paper. In your. preparation for
the GRE, never give yourself a crutch you won't

actually have when you take the real test.

Types of Passage

- L Expository Passages. In this passage
type, the author’s purpose is to inform
or explain something, whether it be a
new finding, a viewpoint, a trend, or an
occurrence. In this type of passage, th

| tone is generallyntutral. . 000 -

- 2. Argurx?entatme Passages. Here the-

-7 author’s furpose is to convince the

.- reader of the validity of a certain belief

o i‘.usuaﬂy b;vé stronger tones and are struc-
s g g he
3 Y’?ﬂﬂww.fr&ma:pa”ssaghs
. Wiipresent an idea or perspective, after
whlch thg author will evaluate or
- wenuque it. In this type of passage, .th
' tone can be strong o nem[x"alfage’ e

GRE passages cover topics in the sciences, social
sciences, and humanities. But regardless of the
topic, the passage itself will conform to the stan-
dards of “good” academic writing—meaning that
the authors will generally write in a style that’s
characterized by clear organization, strong topic
sentences and transitions, and summary informa-
tion or concluding thoughts. You should expect to
see the following types of passages on the GRE:

f‘:_’fi”fs?e.cﬁ‘_’epArgﬂmentative‘Pamges :

YLAer types of passages may crop up on
. utthxen general you should expect ones
< categories above. Now let’s look

the factors that lead to the First Amendment, which mandated that the press bc

Approaching Short Passages

Short passages on the GRE run about twelve to fifteen lines. Despite their
brevity, they can still be difficult to follow and often a lot of information is packed
into a small space. When you come across a short passage, read the entire passage
quickly; pay close attention to the topic sentence, skim through the middle, and

- then read the last line carefully. This should be sufficient to figure out the main

idea, structure, and tone.

Try reading the following passage and finding the main idea, tone, and structure:

The constitutional concept of freedom of
the press traces its origins to 1735 and the
libel trial of John Peter Zenger. Zenger, born
in Germany, emigrated to America in 1710 and
established the Weekly Journal in 1733. The
Journal starkly opposed the policies of New
York governor William Cosby and while Zenger
did not write the majority of the critical pieces,
he was arrested on libel charges in 1734. In
the ensuing trial, widely followed by the
populace, Zenger was defended by Andrew
Hamilton, a Pennsylvania lawyer who was
brought in after Cosby disbarred all the New
York lawyers who offered to defend Zenger.
Hamilton’s brilliant defense of Zenger was
predicated on the argument that since Zenger’s
criticisms involved verifiable facts, they could
not possibly be considered libel. The judge
agreed and acquitted the publisher, establishing
the basic concept of freedom of the press that
was to be enshrined in the United States
Constitution -some 45 years later.

Main Idea/Purpose:

Structure:

Tone:

This is a typical expository passage. The first ‘sentcnc'c is important; it tells us that
the topic is “freedom of the press” and that there was a trial that helped establish it.
The next few sentences provide the details. A quick skim should reveal that Zenger
was arrested and tried, The final sentence states that Zenger's acquittal was one of

Remember to skim! Don't
read every single word
of the passage, even on
short passages!




Do you need to read
every single word to get
the main idea?

- ends with the implications of the situation,

*_——

Your answers should look something like the following:

Main Idea/Purpose: Zenger's trial set a precedent that eventually led to the
concept of freedom of the press and the First Amendment.

Stru " ‘ . . . . ’
cture: The passage states its main idea, provides some details on the trial, and

Tone: Neutral. The author simply describes what happened.

Approaching Medium Passages

On medium- i '
slighly morclfmfg'th passages, which run from sixteen to twenty lines, there’s
Intormation to deal with. Once again, you want to avoid getting

:agu(il: :ii:: the ::x}tl; read iny ?nough of the passage to get the general idea. It's
o read the first two lines of the passage, skim the middle portion, and

What was it abouyt 0] i
. scar Wilde’
novel, The Pictyre of Dorian Gray, tlsla(t):nly

caused it to create such a, .
published in 18917 Whil Il uproar when it was

. - e critics attacked th,
“guahty of Wilde's work, lambasting its plot .
Incurably silly” ang chidi or

( ing the writer for
:lgmg prose that wag “clumsy” and “boring”
€Se overt denunciationg of the formal ®

231:21)? of Wilde’s work merely masked the
iy Vt]e;:: ;)If man;i .nineteenth-century
againgt e eslela Crltl.CS were actually railing
o altla t (?mfxtlc content of Wilde's
devoéed o l1lcs . gs Sh;)se 1ll:str;tion of a lifestyle

. auty. Fo
mne.teenth-century moral)i’st, Tr’hl«relall’lzyct?we of

Ng more than g primer

Main Idea/Purpose:

Structure:

Tone:

This is an Argumentative passage. The first two sentences tell us that there was
some controversy when the book was released and that the author thinks that
the critics had other reasons for attacking the book—besides its writing. A quick
skim through the middle shows that the author thinks critics had a problem with
the themes in the book. The final sentence gives more support to the argument,
stating that the author believes that the critics thought Wilde was corrupting the
public.

Main Idea/Purpose: To suggest that critics weren’t responding only to the writing
of the work, but also to its thematic content.

Structure: The author states a conclusion in the beginning and then provides
details to support that conclusion.

Tone: Mostly neutral, although the author doesn’t appear to support the critics’
views.

Approaching Long Passages

What we consider long passages are about twice as long as medium-length
passages; about forty to fifty lines long. When you come across a long passage,
read the first line of each paragraph and then skim the rest of it, paying particular
attention to any “trigger words” (the same types of words you encountered on text
completions). When you get to the last paragraph, read the first line, skim the rest,
and then read the last line of the entire passage.

You know the drill:

Scientists researching the aging process
are increasingly investigating the role of
telomeres, portions of DNA on the ends of
chromosomes found in every cell. Unlike the
rest of the chromosome, telomeres do not
contain genes, the strands of DNA that code

) for particular enzymes and proteins. Telomeres
primarily serve a protective role in cells,
playing two key roles in maintaining healthy .
cells. First, telomeres prevent important genetic
material from being lost during cell replication,
functioning as a “cap” of sorts on the end
of each chromosome. Second, telomeres serve
as a biological marker that the chromosome
is “complete”; without a telomere on the end
of a chromosome, the body considers the

Make sure that you scroll
down as far as you can, to
guarantee that you see
the entire passage.
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This passage contains
a lot of details. Don't get
bogged down in them!
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chromosome defective and takes steps against
it. While the protective role of telomeres is
fairly well understood, scientists are interested
in another facet of telomeres. Telomeres

contain between one to two thousand copies of
a particular DNA sequence. Each time a cell
divides, a minuscule bit of this DNA sequence
is lopped off. When telomeres become too
short, the cell becomes impaired, unable to
divide, and prone to malfunction. Cells with
critically short telomeres eventually die, leading
many researchers to compare telomeres to

biological clocks or fuses, counting down to the
death of a cell.

Although the role of telomeres in cellular
aging and malfunction is well documented, new
research is focused on searching for a link
between cellular aging and aging and disease
in humans. Ope study has found that subjects
with shorter telomeres are more likely to
develop cancers of the lungs and kidneys than
those with longer telomeres. Furthermore, the
study noted that the participants with the
shortest telomeres were at a higher risk of
developing heart disease and also appeared
more prone to infectious diseases. Another

s'tudy posited a link between telomere link and
life span. In that study, pati
telomeres died about 4 or

Main Idea/Purpose:

Structure:

Tone:

A quick reading of this passage should reveal tlre fo‘llowingf First, f(riorn tille ﬁrlser
sentence of the first paragraph, we learn that sclentists are intereste hmht e rtoof
telomeres play in the processes of aging and crisease..Sklmmlfng throudg nft i, ;c;st of
the paragraph, we see a lot of technical details, which we of course do

concern ourselves with.

We might note that around lines five and six the authf)r tells us t}llle two prxm;\rr(}ir
functions of telomeres. Around line nine, we also.mxght note the htrlgg}cl:r wthe
while, which shows that scientists are interested in propem}els other tthj: the
two primary ones we noted earlier. From the sec01.1d paragr;tp , we se;l i new
research is looking for a link between cellular aging anri umandagl iki.furt/%,r_
quickly skim through the rest of the paragraph we see trlgge}: wor ism < further-
more, another, of course. These words all indicate that the au; or is ; Cxiczlp ovid
ing more details and examples. There’s no need to try to un e:rstalnarn " tyWhile
the examples are at this point. Moving to the ﬁn’al sentence, wre“e [hat while
telomere research has potential, the author doesn’t feel that it will resu

for all of our ills.

i / : i g g

i i i omeres; the
Structure: The first paragraph provides background information on tel ;

second one details the research on them.

i ial results of
Tone: Mostly neutral, with some caution expressed about the potent

telomere research.

Don’t get caught up in the details! Focus on the big picture.

a y on

i i ion, the questions.
important part of reading comprehension, the q

SIZE UP THE QUESTIONS

i u
Reading-comprehension questions vary in both forrrlat and \:slrlhjctetf)rzyt ;:tqz;r; sz
to do. Let’s take a look at the different types of questions you
then go through strategies for tackling each type.
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Thg best answer to a
reading comprehension
question has to be

supported by the passage.

These questions ask, in o

Question Formats

’{he reading-comprehension questions on the GRE will appear in several different
ormats:

1. Choose a Single Answer. These are the standard, five-answer
multiple-choice questions.

2. Choose Multiple Answers. These questions ask you to select more
than one answet, kind of like how you answered sentence-equivalence
questions.

3. Text. Selection. These questions either refer you to a highlighted
portion of the text or ask you to click on the portion of the text that
contains a certain phrase or performs a certain function,

Question Types

VZhilc it might seem like there are tons of different reading comprehension tasks,
there are really only two major types of questions on the GRE:

l. “Fet » . . .
e :h Q:ilc“s;lons,; Some questions simply require you to go to the
Passage and “fetch” some information. The information you are asked

to fe i i
htC}’l might be a fact from the reading, the meaning of a word, the
author’s tone, or the main idea of the passage.

Reasoni i i
ning Questions. Other questions require a little more work

than j i
Just returning to the passage and figuring out what the author

says. Reasoning questi
stions can ask you wh i
an author u -
lar word or sentence, , e particn

what inferences you can draw from the passage,

l l l > o ] l ] . l . ns

conclusions,

Eac i
Lct’?l()f lzhesc question types may show up in any
00K at some of these questions in more detail

Fetch Questions

et o it ne f;(i)m; or another, “Whar does
orward of readin i
return to the passage 8 destions,

and retrieve infe i
follow these steps: ermation. To

the passage say?” They
and simply require you to
answer a retrieval question,

l.  Rea . .

2 Mal?ettl:c%lue::?;; Vsihit.k‘“" of question are you dealing with?
Questions at all; they're re s Question. Ofien the quescions aren't
You must first have 5 32‘1.13 lngomplc.tg sentences. To find an answer,
,W"fds, you interact ql?:h o n By p mtu?g the‘qll,CStion into your own
There is no pe e - and actxveiy with the question text.

over or your brain going

cxam) To make the

of the question formats above. -

question into a question, simply start with a question word. Nine out
of ten times What or Why will work, since most questions ask either
what was said in the passage or why it was said.

Find Proof. This is the golden rule of reading comprehension. You
will always be able to prove the correct answer with something in the
passage. If you cannot put your finger on a specific word, phrase, or
sentence that proves your answer choice, you can’t pick it. To help find
answers in the passage, use one or both of the following techniques:

a. Five Up/Five Down. You can’t trust ETS to put the correct
answer exactly where they say it will be. If they highlight a
portion of the passage, start reading five lines above and read
until five lines below the highlighted passage. This way, you
are always looking at things in context.

b. Lead Word. A lead word is any word in the question that will
be easy to skim for in the passage. Names, numbers, dates,
large technical terms all make good lead words. Of course,
once you find your lead word, read five lines up and five lines
down (for a vocab-in-context question, you need to read only
three lines up and three lines down).

Answer the Question in Your Own Words. The answer choices are
designed to mislead you. If you know exactly what you're looking for,
you can protect yourself from their feints and tricks.

Use Process of Elimination.

a. Extremes. No matter what the passage says, ETS can phrase
a correct answer any way they like. They want correct
answers that are difficult to argue with. That means wishy-
washy language (often, many, usually). Extreme language
(is, ali, every, always) is too easy to prove wrong, so it almost
always is incorrect.

b. Scope. If you can’t put your finger on it in the passage, you
cannot pick it. They are very good at slipping things into
an answer choice that were never mentioned in the passage.
Watch out for answer choices that expand the scope of the
passage.

c. Half Right = All Wrong. ETS likes to write answer choices
that are half right; which also means they’re half—and thus
all—wrong. The first part of the answer choice will usually
look good, but the second part will be incorrect. Make sure
to read the entire choice carefully.

d. Garbled Information. Some wrong answer choices just take
parts of the passage and garble them. These answers usually
contain information that’s taken directly from the passage

rather than paraphrasing it.

Correct answers are paraphrases of information stated in the passage.
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Always go back to the
passage to verify your
answer. Don't answer

from memory.
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Let’s try a fetch question with the following passage, which you've seen before.

)

The constitutional concept of freedom of
the press traces its origins to 1735 and the
libel trial of John Peter Zenger. Zenger, born
in Germany, emigrated to America in 1710 and
established the Weekly Journal in 1733. The
Journal starkly opposed the policies of New
York governor William Cosby and while Zenger
did not write the majority of the critical
pieces, he was arrested on libel charges in
1734. In the ensuing trial, widely followed by
the populace, Zenger was defended by Andrew
Hamilton, a Pennsylvania, lawyer who was
brought in after Cosby disbarred all the New
York lawyers who offered to defend Zenger.
Hamilton’s brilliant defenge of Zenger was
predicated on the argument that since Zenger’s
criticisms involved verifiable facts, they could
not possibly be considered libe]. The judge
agreed and acquitted the publisher, establishing
the basic concept of freedom of the press that
was to be enshrined in the United States
Constitution some 45 years later.

And here’s the question:

The passage states that Zenger did all of the
following EXCEPT

O started his own newspaper

O

opposed the governor’s administration

O left his homeland to

come to the Unit
States ~ ted

O
O

hired Andrew Hamilton to defend him

based his criticisms on factual issues

Here's How to Crack It

Step 1: Read the Question, Essentially,
is a fetch question,

“What did Zenger do?” This

Step 2; i i
p Make the Question Back into a Question, What did Zenger do?

Step 3: Find Proof. “Zenger” will make a nice lead word. Find the
first instance of it in the passage and read from five lines
above to five lines below.

Step 4: Answer the Question in Your Own Words. In the passage,
we are told that Zenger “emigrated to America,” “established
the Weekly Journal,” and “opposed the policies of New York
governor William Cosby.”

Step 5: Use Process of Elimination. Use your scratch paper. Cross
off answer choices (A), (B), and (C). Now we need more
information, so go back to the passage and find more
instances of the lead word Zenger. We are told that he “was
defended by Andrew Hamilton” and that his “criticisms
involved verifiable facts.” Choice (D) says that Zenger “hired
Andrew Hamilton to defend him.” One might assume that
since Hamilton defended him, Zenger must have hired
Hamilton to do so. Be careful, and be literal. This is how
they catch smart people. If you cannot prove your answer
with something stated in the passage, you can’t pick it. If the
passage doesn’t say Zenger hired Hamilton, we can’t assume

it. Assumptions always get you into trouble on reading comp.

If you're not convinced, don’t get hung up; just give (D) th'e
maybe, and move on. Choice (E) says that he “based his
criticisms on factual issues.” We have proof for this one, so
cross it off. Choice (D) is the only one left. That must be our

ANSwer,

T

. i i d on the passage
Let’s try another fetch question. Try the next question, again base passag

we've already studied:

2 of 20

. @ . ”
As used in the passage, the phrase “predicated on
most nearly means

O derived from
extirpated on
conjectured on

covenanted on

O O O O

relegated to

Keep your hand moving.
Don't get hung up on an
answer choice in the first
pass, and be incredibly
literal. If the passage
doesn't say it, you can't
pick it.

Remember to keep track
of new vocabulary
words as you work
through this book!
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Here's How to Crack It

Treat this type of question just like a text-completion problem. Go back to the
passage and read the sentence that contains the highlighted phrase, imagining
that the highlighted portion is missing: “Hamilton’s brilliant defense of Zenger
was the argument ‘that since Zenger's criticisms involved verifiable
facts, they could not possibly be considered libel.” Try to come up with your own
word or phrase for the blank.

The clue is that the defense had something to do with the “argument that was....”

A good phrase might be based on or constructed on. Now go to the answer choices
and use POE. Does derived from mean based on? It’s fairly close, so leave this
cl]oicc. How about extirpated? Remember that if you're not sure of the meaning
of this word, you can’t eliminate it. Leave it for now. Answer choice (C) is not
a match; conjectured means 1o guess or infer. A covenant is an agreement, SO
choicc‘([)) doesn't make sense either. And relegate means to assign, so that’s out
too. If you're down to choices (A) and (B), go with the one you know works.
Choice (A) definitely works, so that’s our answer.

L

By the way, to extirpate means to tear u

by the root ly.
Remember to keep track of new vocabular Fon ookt oo

y words as you work through this book!

Here' e :
ere’s another fetch qQuestion, and another familiar passage to work with:

_—

' Scientists researching the aging process
are increasingly Investigating the role of
telomeres, portions of DNA on the ends of

chromosomes found in every cell. Unlike the
rest of the y

chromosome., telomeres do not

comtain genes. the strands of DNA that code

Or particnlar o
ln. p(u’t cular enzymes and proteins. Telomeres
primarily serve |

. a protective role in cellg
pla_\'mg;‘two key roles in maintaining he;xlthv
cells, 'I‘lrst, telomeres prevent important érlet'
l'll}ll(‘l."la] from being lost during cell repiifatio N
functioning as a “cap” of sorts on the end B
of cach chromosome. Second, telomeres s /

as biological warker that the tnosome

. chromosome
I8 “complete™; Some

without a telomere on the end
of a chromosome, the body considers t}
f'}n'()r'n(?m)me defective and take; stef)s ‘alea'

n.‘ While the Protective role of telomereg' .
fan'ly well understood, scientists are i tS IS‘

I another facet of telomeres. Telom, nére&ted
comtain between one to two thousan((;res i

a particular DNA sequence. Each timeczpfesl]()f

divides, a minuscule bit of thig DNA sequen
ce

18 lopped off. When telomeres become too

short. the cell becomes impaired. unable to
divide. and prone to malfunction. Cells with
critically short telomeres eventually die. leading
mauy researchers to compare telomeres to
biological clocks or fuses. counting down to the
death of a cell.

Although the role of telomeres in cellular
aging and malfunction is well documented. new
rescarch is focused on searching for a link
between cellular aging and aging and discases
in humans. One study has found that subjects
with shorter telomeres are more likely to
develop cancers of the lungs and kidnevs than
those subjects with longer telomeres.
Furthermore. the study noted that the
participants with the shortest telomeres were at
a higher risk of developing heart disease and

also appeared more prone to infections diseases.

Another study posited a link between telomere
link and life span. In that study. paticuts with
shorter telomeres died about 4 or 5 years
earlier than those with telomeres of greater
length. Of course. many researchers are
hesitant to conclude that shorter telomeres are
a causative factor from this data, particularly
because telomeres are susceptible to corruption
from a number of factors besides cell division.
For example. scientists have noted that
telomeres are especially vulnerable to the
byproducts of the body's oxidation process. by
which oxygen is converted to energy. The
byproducts of this process, called free radicals.
can not only harm cells and DNA. but also
artificially shorten telomeres. Further research
is necessary to better establish what link, if
any, exists between telomeres and aging. One
promising avenue to consider is whether
lengthening damaged telomeres has the opposite
effect on subjects, making them healthier and
conferring greater longevity. And while some
scientists optimistically believe that a full
understanding of teloweres will eventually
hestow dominion over the very aging process
itself. such a scenario is both unlikely and not
technologically feasible at this juncture.

Can you prove
your answer?

Reading Comprehension
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Regardless of the
question type, you'll stili
have to prove your answer
with information

from the passage.
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The author’s attitude toward a possible research
project involving lengthening damaged telomeres is

O hopeful that the research will shed light
on the link between telomeres and the
aging process

O optimistic that researchers pursuing this
project will prove whether shortening
telomeres causes aging

O indifferent to the possible outcomes of
such a research project

O skeptical that such research will
conclusively prove that there is a link
between telomeres and cell aging

O uncertain that researchers pursuing such
an avenue will be able to truly achieve
dominion over the aging process

Here's How to Crack It

This question asks us whar the author’s attitude is. Our first step is, as always, to
go back to the passage; here,

. : . look for the part that discusses the research project
n;lenlt)loned in the question. You'll find it toward the end, about 10 lines up from
the bottom. Reading the lines around thac portion of the passage, ask yourself
what the tone is—is the aut

3 . . .
answered th , hor’s tone positive, negative, or neutral? Once you've
ered that, you've got to find evidence to support it.

One good piece of evidence i
attitude must be somewhar p
eliminate any chojces that a
choice (E). Because hopeful is

the first answer choice. N

s that the author uses the word promising, so the
ositive, Gomg back to the answer choices, we can

2
(€) doesn’t stand up o scrutiny either. The author

certainly call I .
y calls the research Promising, which precludes a tone of indifferent. Thus,

the best answer is (A)

Now that we've cracked the fe
reasoning questions,

Reasoning Questions

Reasoning questions ask us to go a little bit beyond what the passage states. The
best answer is still based on the passage, but we need to do a little more work to get
it. Our steps for reasoning questions are pretty similar to those for fetch questions:

1. Figure Out What the Question Wants. Reasoning questions never
ask for a simple fact from the passage. Instead, you'll need to figure
out what type of information the question requires before you go
back to the passage.
Return to the Passage. You'll still need to return to the passage to
find the answer. In general, reasoning questions will require you to
read more of the passage than simple fetch questions because often
you'll need to know the context for a particular piece of information.
3. Answer in Your Own Words If Possible. You'll be able to complete
this step for some reasoning questions, but not for others. If you can’t
answer in your words, go right to the answers and use POE.

E\J

POE Guidelines for Reasoning Questions

On many reasoning questions you'll have to make aggressive use of POE. M1‘1ch
of the guidelines you used for fetch questions still apply. However, on reasoning
questions, look out for answer choices that do the following:

1. Go Beyond the Information Given. Often, wrong answers on these
questions will go too far beyond the scope of the passage. Choose the
answer that is closest to the information i the passage.

2. Have the Wrong Tone. Some reasoning questions, such as strengthen
and weaken questions, can use extreme language while others, such
as inference questions, generally should not. Make sure the tone of
the answer choice is appropriate to the question task. .

3. Are Only Half Right. Again, answers that are only half right are all
wrong and you should eliminate them.
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